6" January 2021 Maths Questions

10-2= 8—4=
5-3= 9—-4=
10-3= 10-7=
10-4= 10-6=
4-2= 10-1=
9-5=
10-8= Harder Questions — you will need
10-5= more objects (20)
5-2= 15-5=
10-9= 18-3=
20-5=
20-8=

Challenge Questions!

There were 9 stars in space. An alien spaceship zapped 7 away! How many stars were
left?

The yellow flower has 10 petals, and the blue flower has 8 petals. How many less petals
does the blue flower have?

The villain caught 10 people and the superhero rescued 6. How many does the villain
still have?




